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Topic:- Child Development & Pedagogy (CDP)

1) Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? / 39 HIAFIA®! & A fram 2 smamY s ik afdE & smur w®
fRIa T U Risia e faran 3:2

1. Sigmund Freud/ fov#s Hras

2. Carl Jung/ Hlol 'ﬂ'JT

3. Erich From/ TR waT
4. Hans Eysenck/ &8 358 ®

Correct Answer :-

« Hans Eysenck/ &8 35d®

2) The full form of SENis____ . / SEN®TYofsu_ | gl

1. Special emotional negotiation / '\'{ﬁ‘\’lﬁ AR f[Amfawea
2. Social education needs / HIRTA TIDHIA 1€

3. Special educational needs / ST Wﬂﬁ Big|

4. Special and exceptional needs / = 3R TRIRMEd -1“|5\H

Correct Answer :-

« Social education needs / T=Id QW&FY Bt

3) The need for child-centered education has increased mainly because: / qTd-bisd RUam
ATIRgHal E&Ia: g R J 9¢ T 8:

1. Parents have no time for their children. / FTAT-TUAT & U 310t gl o folT HIT ! &
2. Parents are less qualified. / ATAT-TUAT et T E
3. Teachers have better qualification. / TT&TerT T ST JTIAT &


Lenovo
Stamp

Lenovo
Stamp


4. Teachers are more equipped to deal with overall development. / fRT&Tch ET{UI{ frera & forw 31fa®
ﬂﬂ ooTd %l
Correct Answer :-

« Teachers are more equipped to deal with overall development. / fRT&Tch ET{UI{ fera & forw 1fa®

gatsad gl

4) People who are categorized on the basis of economic condition are known as belonging to a

particular ./ ToreT @t Y 3 Reufa & mum wv aefiera fmam sirar @ 3+ v ey
¥ weftd ¥ & ST S1er

1. Ethnic group / TIfa® qq
2. Religion / T

3. Class / @aT

4. Caste / STTfdl

Correct Answer :-

e Class / gdT

5) Perception of a particular method of teaching is different among learners because: / fra7oT &Y

T ey ygufa it erRom it & i e g a2t
1. they do not want to learn. / & EGT %1 ITed ¢
2. they don’t like the topic. / 3¢ [aw I gHe el &

3. perception is dependent on the environment learners are accustomed to. / YIRUTI RGP RIED

TTeRoT W AR &, o 3 &
4. some of them do not like the teacher. / 38 & PS> fr87eh o gde el A &l

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / €Ol Rremfd=t &

gaTaRoT oY fA9R &, f5ad 3 &1

6) What is the primary change that occurs during puberty? / dtae & gR1eT g1t arerr wrafA+
Rader 7T §?

1. Psychological maturity / HATd=ITIeh TRAFAAT



2. Social maturity / AT TRUeFAT
3. Cognitive maturity / H=ITATcHD TRUFIAT
4. Sexual maturity / JleT TRUFAT

Correct Answer :-

« Sexual maturity / it TRUFaT

7) At what age does the newborn recognize the mother’s voice? / fh¥ 38 H dAged faﬁa; Ardr
3TITS FY GgATTAT 82

1. At birth / ST &

2. At three months / I HAgI U
3. At six months / &: ZF@?T l°R§

4. At nine months / &} HABIA UT

Correct Answer :-

. Atbirth/ JTTH A

8) Who was a development theorist of the.mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / didl erarsd) & 7AeT H v
e RiguiasR Fla a1 Y s=at F Afas e & sre ffdse 3k g Rgua F e s
ST 8?2

1. Lawrence Kohlberg / Sli{E PlgoTadT
2. Vygotsky / aTSIMcE<hr
3. Piaget / TOmat

4. Erikson / 3RepdA

Correct Answer :-

« Lawrence Kohlberg / IR PlIgcrad]

9) Who proposed the “Law of Effect”? / @« ‘g#11a &1 fagsr wfaarfea fFar?
1. Sternberg / T&AGI

2. Fromm / hIH



3. Thorndike / ATSISH
4. Bandura / ET'U§TF

Correct Answer :-

« Thorndike / ATISBH

10) Who developed the first intelligence test? / 9goIT g?."ﬁ'ﬂ?ﬂ qdYetor (2¥F<) fhas Awfaa
foram?

1. Binet and Vernon / fo=ie 3iR a=i1

2. Binet and Simon / [9aie 3R &&=

3. Goddard and Terman / TMa1S 3R T

4. Goddard and Wechsler / 33TS 3R dader

Correct Answer :-

« Binet and Simon / faae 3iix A=

11) Preprimary education in India carried out through Anganwadi Centres falls under the
./ {RA A HTeTars! Hal & AR ST arelt Td-urrfare et F
3ferate 3Tl §

1. Ministry of Social Justice and Empowerment / ATHTTo1h =41 3R ATAmRAT Fme1d

2. Ministry of Health and Family Welfare / TaT€2T 3R URAR HeAT0T HAT
3. Ministry of Women and Child Development / EFI'%?T 3R arer faeera AT

4. Ministry of Human Resource Development / HTTd AT TARTT HAT

Correct Answer :-

« Ministry of Women and Child Development / TFI'@HT 3R areT farg AT
12) Critical thinking is an aspect of: / 3geT IEGGI ﬁ'iF[H' Cales 11'3'6[\%'

1. Bias / U&dId

2. Reasoning / s

3. Belief / fasma



4. Emotion / ATIT

Correct Answer :-

« Reasoning /

13) The judgement of the quality of teaching depends on: / fr&Tor F¥ [oTaT T faoir A )
s &Tar %:

1. Developing a relationship / &4l &Y [IRFAT e TR

2. Attainment of information / STTeTehTRT &Y UTIT T

3. Discipline / 3MHA U

4. Overall development of student / BTaT & THIT fIhrT TX

Correct Answer :-

« Overall development of student / ST3T & THIT fIHrT TX

14) The abbreviated term ADHD denotes: / Gf&Tcd s ADHD (VEvasY) fHAe &t gafar g:
1. Attention Deficit Hypersensitivity Disorder / €T 3{HTd 3ifaadeaitedr [deR

2. Attention Deficit Hyperactivity Disorder /. £3lel G HishIdlideh R

3. Active Deficit Hyperactivity Disorder / @fehd 31T TfehIdT fdhR

4. Aggression Deficit Hyperactivity Disorder/ 3TTehTHehdT 3THTT TfhTdT TAPR

Correct Answer :-
. Attention Deficit Hyperactivity Disorder / €Tl 3HTd AIhIAT fahR

15) Which one of the following is not an internal factor of attention? / Rf@a A T
&1 (3TTYTT) T Th HTARNF FRP ABl 82

1. Interest / ¥

2. Intensity / ditgrdl

3. Mind set / Jd YRUT (ASS <)
4. Motives / OOT

Correct Answer :-



« Intensity / digar

16) Which of the following factors did Kohlberg focus on in his theory of morality? / Higeraar
et Afdwar & Rigua # Frafaf@a st & & fra 91 eare e fmar?

1. Family influences / UTRAR UHcd
2. Cognitive development / =TT Taehre

3. Culture / QW-_CE%

4. Gender differences / Tol9T A

Correct Answer :-

« Cognitive development / HITTcHD [ehTd

17) Which of the following is not an objective of Continuous and Comprehensive Evaluation? /

farafaf@a & & 71 9ad va sqT9F HeATheT FT 35T Tl 2
1. Plan teaching-learning situations. / f1&T0T-31T91a FATAGI T ATSTar LT e |

2. Communicate the child’s progress to different stakeholders. / &<ar &l JaTfel ol T Tdieet TRl
Y AT |

3. Map changes in the child’s learning and development. / g 31T 3R R F uRadar &
AT IATT |

4. Inculcate fear in the minds of pupils, so that they are able to perform better. / i F AT FH 919
T T, ATfeh J I8 UGN & Heb |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / ERIPRICE:CE: KR
e T, ATfeh J dET UGN & Heb |

18) Which of the following is not a risk factor for drug use that is directly attributed to parents?
/

ffaf@a & ¥ Fia 91 397 3y & v NFA FRS 71 ¢ T RvaAE-RaT @ ®d
TG S SAA?

1. Childhood negligence / STeIdEAT AITURATR]

2. Abuse / E,:cﬁagll
3. Peer rejection / Tehalt ITEAThIOT



4. Genetic inheritance / Bﬂﬁﬂf‘\ﬁ?ﬁ Taad

Correct Answer :-

« Peer rejection / TghHT ITEATHIOT

19) A child realizes that a four-legged animal that neighs cannot fit into her existing schema of
‘dog’. What process will she undertake to fit this new information into her schemas? / T& ¥Ta

1 A el § o TR W are Sera, St & Rerfeearan 8, g & #lofer R # fve 7€ & e
213U 1€ TP F) 37 ITHR A e FI & v ag Sl @ vfiwar sro=meanm?

1. Disequilibration / 3THcelel
2. Accommodation / JHATATST
3. Assimilation / TcHATd

4. Homeostasis / IARUfT

Correct Answer :-

« Accommodation / GHATATS

20) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenofmenon'known as? / U s<d HI 31T $r
e & fore I1e 32 a3 Rl 3781 ) TR S {eIl 3. qa R el [T I dheeTs GHETT & FROT
HTST 91T &1 S TAT ) T AT § AT ST 82

1. Retroactive interference / C[Gﬂ'ﬂ'@ Y
2. Retrograde interference / GTcaTTaHT 3aRTeT
3. Anterograde interference / 3TIITHT AT
4. Proactive interference / 3-17111333@ HAAY

Correct Answer :-

o Proactive interference / 34‘«1117-131@ Y

21) According to Vygotsky, child’s language and thought develop . | MNP &
IR, T Bt UTT SR faaR ol o &

1. independently of each other, then merge / Tch q\{-lj\ q TIdT IR 16, H 39F H AlFATord & ST
3




2. independently of each other / Tch E‘{H’l’ q Tady

3. universally across the culture / FH HERTIAT U FATAAT &
4. together as child grows / = & fa&H™ & Y

Correct Answer :-

« independently of each other, then merge / Th q\ai ¥ TIdd s\ldn{ gl & 39y H giFafea ?-)f S

3

22) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ <t Arar-fieT sga R v s  afra s sl B e T ured s &
e geTaar Fa © BT IRV B ¢ |

1. Uninvolved Parenting / 3dg UTeled-GIVOT

2. Permissive Parenting / Hﬂﬂzﬂ?@ﬁ qTell-GIyoT

3. Authoritative Parenting / T TTelc-TIVOT (37 yiiefea tﬁ'ﬁ'ﬂ)

4. Authoritarian Parenting / 31T RATE! UTelI-GIYUT (AT ET37T YIfEam)

Correct Answer :-

« Authoritative Parenting / TR UTell-qraoT (AR fea TR

23) is the desire to act and move towards a goal. / PTd B 3R
TS T Bt 3R 9g Bt 30T 8

1. Perseverance / €&dl
2. Valour / 9TgH
3. Motivation / OOT

4. Grit / I

Correct Answer :-

« Motivation / UITTT

24) Which of the following theorists emphasizes the importance of categorization in the

learning process? / fAufefad Rigider & A 19 uftr Y ufpar # arffeor & wew wR =i 3d
8

1. Kohler / PI&X



2. Bandura / EE:—',RT

3. Bruner /@ei}
4. Pavlov / Oddrd

Correct Answer :-

« Bruner /@eiX

25) Problem-based learning in science encourages learners’ scientific habits of mind. Which
of these options best describes some of the guidelines for problem-based learning?/ fas= #

aT-3mUTRd Rrem, RianRiaY &t 79 31 agfe smredl &) Nieaed $3dt 81 599 9 &9 91 fdpe
TuET-3nTia fygia We & o feznfAdzn &1 3R auiq wvar g2

1. Reading, writing, listening/ U&=, fer@eT, Feiel

2. Thinking up ideas, using multimedia, making variables/ FeCIFHISAT BT STJIT ich, T TATHI
BRI EEGI

3. Asking questions, constructing a hypothesis, repeated trials/ U4 &I, Udh UReHeHT &1 fAmfor hHI,
R-IR TRI&01 AT

4. Discussions, a fixed number of trials, cooperative learning/ T, [Hfd e o TRIeq0T, TEHRT fRrefor

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ 9% Y5-I, Th g &1 fAafor HAI,
TR-SR URI&I0T DAl

26) The apparatus used for measuring the span of attention is ./ Sray fawgfa (w9
3P 3R DI AT & fore uga fbar S aran Iuaron gl

1. Tachistoscope / SRIFERPIT
2. Microscope / ATSShIEHIT

3. Telescope / Sl DIT

4. Epidiascope / uﬁ%'amﬂﬁu

Correct Answer :-

« Tachistoscope / SRITCIERIT

27) Id, ego, superego is put forth by: / U89, 3¢, W () 7 & ¥ fFus gr1 wifua g

2



1. Maslow / ATESAT
2. Pavlov / Udelid

3. Jung/'ﬂ'dT

4. Freud / WIds

Correct Answer :-

e Freud / BIIs

28) The Expectancy Theory of motivation states that: / 30N & Rygia # gar g f&:

1. People are motivated to do things due to external rewards. / TR¥HR ¥ fad B B & forg R gial
gl
2. There is a hierarchy of needs in each individual. / Ud® Afad H SRedl &l Udh UaldhH E?I?IT %’I

3. There is a desire in a person to become what he is capable of becoming. / T3l Ffad H g8 94 &1

T8Il § St 98 & B e B
4. Motivation depends on the desirability of the outcome. / fBRUT GRUMH &I 331 TR AR Har g1

Correct Answer :-

« Motivation depends on the desirability of the outcome.g 3TIRTT TRUMH &1 331 IR R Har g1

29) Teaching in an inclusive classroom is a challenge for teachers and demands

certain . / THTa=A wem # yer, Rierel & e v g 7 ok 39w Aifda = v
) P ATITIDAT 2|

1. Habits / Ugfdl
2. Talent / UfaHT
3. Expertise / Q&ldl

4. Practice / ¥

Correct Answer :-

o Expertise / Q&dI

30) is found to be effective at achieving conceptual change. /

F 3R IRadeT yTod FIF A T 91T T=AT B

1. Reading textual materials/ UTS 3T ¢TI JOTTT



2. Labs / YIRS
3. Discovery learning / igﬂiﬁail 3TITH

4. Detecting an anomaly / TIGITT &7 TAT ST

Correct Answer :-

« Detecting an anomaly / TIGITT &7 TAT ST

Topic:- General Hindi (L1GH)

1) & Qam=t 1 FAT §EAl, WS A§T FeA Ig1 9A

AEA FT ATAA WY TAT, §H YA 3T AGT qSF

3T ST 3o FHl, ATG TAHT a6 o 373l

T Fed @ @ A, IN JA FA AT, FF T

e 3 T2 79 T q@), 9 Goen ¢ sufav 9@

S ¥ 39 Fo AT 79, S A 39 Fo R @@

& a1 Hgl, & a1 Fell, F& &9 AN W Fo qC

SF W YE-§:F F °el F, §7 TH o719 ¥ Re a7

go st iy g A, Fees qeE @R T

g & faerell 3T @, d IWhAAr F AR T

T A Med, oA MRed, S s FT g AT TF

§ §Od §9d TS Igl, WU T el FR T

3 9T HR W 41, IEE W FFA

g T 99 & 3R @, §F AU aeU A 9

3UdFd YT ) UG Al S A dTel G F e IATI
WRe: ‘§H dramal Y FAT FEAT ¥ FIA FT FAT ACIS 87
1. 30w el wér ¥l

2.9 GAA Bl H AT B

3. §@-gW &I AW HI$ GHTI & TSl

4.7 W T H AT T o

Correct Answer :-



2) &X damat A FA1 gFA, TS T FA 9@l g
AT FT HTAF WY T, A YA 33 gl T

T FAFT oo Fofl, HY TaT qF T ref

T FEd @ @ AT, IN JA FH AT, FFl T

e 3R Td? 79 F 1), 9 T § sufav T
S ¥ 3HA F6 AT 9Q, o F I3var Fo Qe @
& a1 Fél, & a1d g, Fo &9 A BT Fo v
&% W FE-3:F F °l F, ¢ 0F o9 ¥ R 4@
&H s 1 gfaar A, Toee e WR Td

T TF fAuEl 3T W, o IAAhAdT F AR T

&F A Ied, oA IR, St s FW ol AT TH
4 §0q §uq 3o Jgl, qIon Y el gR AW

T HYT AR W 4T, AEE @ FFA are

& T 99 & 3R @Y, §H HUA Teud dis g
3dFd YT F UgHT sl S e dTel G FH Seal T
yee: FfY & AR da= FJ g §7

1.3 faer & ReR g

2.3 qd-491 T B

3.5 W el # AET WA B

4. gAA g@ A I W B

Correct Answer :-

« S W E # AT T

3) &7 daat A FAT g, AT Fgr hel TEr T
AT FT HTAF WY T, A 4T 33 el T
T FAFT oo Fofl, HY TaT qF T ref

T FEd @ @ AT, IN JA FH AT, FF T

e 3R Td? 79 F 1), 9 T § sufav T
S ¥ 3HA F6 AT TQ, o F I3var Fo Qe @

& a1 Fél, & a7 g, Fo &9 A BT Fo v



BF W FE-§:F F °l F, §7 0F o9 ¥ R 9@

g st & gfaar A, Wees qee @R T

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, ITAT IR, St s F AR W TF
§A g9 §9d AT IgT, VUi T el FR T

3T 39T HR WET FAT, HTETE E SR arer

g T 99 & 3R WY, & IR Seue dis T

3YYFA ISIIT Y TgHT Al & AT dTel G FT el IABTI
weeT: e AT g@ AR g@ ol ¥ ge W 9 @2
1. sRr-am i

2. TP 3R AA WP

3. a1 Pl e

4, e H dE

Correct Answer :-

. Bh AR FAF AP

4) & Qat T FAT gEAl, IS F&T HeA I e
HEA HT @A G T, §H YA 331 STel T

3T ST 3o FHl, ATG TAFT a6 o 73T

T FEd @ @ AT, IN JA FA AT, FF T

e 3R Ta? A9 A (B, §W T § sEfAC T
9 ¥ 3HA F& AT 7@, S F I39er Fo Qe o
& a1 Fl, & a1d G, o §8 A BT 3o A
BF W FE-§:F F °l F, §7 0F o@ ¥ R a7
& Prawat 1 gf #, woeE g WIR 93

g 0 faerel X @, A IWhAdT FT AR T

g AT e, A IR, St X F AR W TF
§ g9 §9d ST IgT, VIO T el FR T

3 9T HR W 41, e W T A

T @Y 9 ¥ 3R wd, g6 IUA geua dis T
3YYFA ISIIT Y TgHT A & AT dTel G FT el I3V



Tee: AT & Sl arer 93 et F Fur o9 AL IR SAE|r?
1. 3HTT T

2. 9&g HIG &

3. 9HS Pl

4. QIEAT T

Correct Answer :-

5) & &a= Y FAT gEdl, HS F§T FA IgT T
HEA HT IAH Y T, §H YA 33 STeT T

3T ST 3o FHl, ATG TAHT a6 o 37T

T FEd @ @ A, IN JA FA AT, FF T

e 3R Ta? AT A (B, T T § sEfAC T
9 ¥ 3HAT F6 AT 9@, S F I39er Fo Qe @
& a1 Fl, & a1 ofl, Fo §8 AR BT Fo AT
BF W FE-§:F F °el F, §7 TH o719 ¥ R 9
g Prawat 1 g &, Faoe g W 9F

T F AU 3T W, o JWEAAr F AR TS

g A e, ITATE IR, St s F AR W TF
T §Ud §9d TS Tel, WO A Sl FR TS

3T 39T IHR W FAT, HTETE E SR arer

T T 99 & 3R WY, 7 IR aeue dis g
3YYFA ISIIT Y TgHT Al & AT dTel G FT el IRV
weeT: ‘§H UH fAwnE €@ 39U F #7491 aId §?
1.3 § PIE e

2. %6 W) 3fde sm

3. 33 &1 fARmed

4. A H FTedr

Correct Answer :-

. T W AfAc BT



6) & Q= fT FAT §EAl, TS FET FA g1 dA

AEA FT ATAA WY TAT, §H YA 330 AdT Tqo

T T Sead Fefl, Y T a6 9o el

T Fgd @ @ AT, IN JA FH AT, FF T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 9@

I & 3FH F6 AT A, T F 3G Fo Rw T

& aTer Fgl, & a1 G, I £ AR W FT Av

SF W GE-g:@ F Hel #), §7 0F 09 & Rw

&H s 1 gfaar A, Toee e WR Td

FH F AU 3T €W, o JWEAAT FT AR TS

& A W, J9AE W, St T F gaR AT TH

§ §9d g9 IS Tegl, ol Y Al §R T

3T 39T HR T F41, e @ Fh arer

& T 99 & 3R @Y, §H HUA Teud dis g

39T I F YGHT Al IS SR q oA HT e sl
veeT: Sitaed & AEAl 9 gifAeRs afaa g ddr 82
1. gl S1d 3T TR g & Y 397R Ed B

2. Badl ST 3T IRT B FAAH 310 &

3. %del S AT g @ ol F T gad

4. 30 |

Correct Answer :-

7) & Q&= Y F47 §EAl, TS F@T FA g1 aA
AEA FT ATAA WY TAT, §H YA 30T AdT Tqo
T T Sead Fefl, Y T a6 9o el

T Fgd @ @ AT, IN JA F& AT, FFI T

fFe 3T T2 A9 ¥ OB, @ goe ¢ sufav 99
I & 3FH F6 AT A, S F 39w Fo Rw T
& a1 Fgl, & a1 o, I £ AR T Fo Av



BF W FE-§:F F °l F, §7 0F o9 ¥ R 9@

g st & gfaar A, Wees qee @R T

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, ITAT IR, St s F AR W TF

§A g9 §9d AT IgT, VUi T el FR T

3T 39T HR WET FAT, HTETE E SR arer

g T 99 & 3R WY, & IR Seue dis T

3YYFA ISIIT Y TgHT Al & AT dTel G FT el IABTI
vesT: e & o AR & 96 A% NS AT ;7w 82
1. 9rd

2. feter

3. 9%

4, AHATH

Correct Answer :-

8) & Al FT FAT gEl, IS F&T Hel JgT T
HEA HT A G T, §H YA 331 STel T

3T ST 3o FHl, ATG TAFT a6 o 73T

T FEd @ @ A, IN JA FA AT, FF T

e 3R TA? AT A (B, TH T § sEfAC T
9 ¥ 3HA F6 AT 7@, o F I39er Fo Qe o
& a1 Fél, & a1d G, Fo §9 A BT 3o A
&F W FE-§:F F °l F, §7 0F o9 ¥ R 9@
& Prawat 1 gf &, woeE g WIR 93

g 0 faerel X @, A IWhAdT F AR T

g A IR, ITATE IR, St s F AR @ TF
§A g9 §9d AT IgT, WU T el FR T

3 9T R W 41, e W@ T A

TH @Y 9 ¥ 3R wEd, g6 IUA geua dis T
3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3Vl



yeeT: g FE W FE W Tgad §7
1. g hr e
2. 68 fr e
3. gl T T

4, Sodtd HT &

Correct Answer :-

o Sooi™ HT &

9) & o=l T FAT gEl, ST FgT FA I T
HEA FT @A Y TA, §H YA 33 e T

3T AT 3o FHl, ATG TAHT a6 Tqor 373

T FEd @ @ A, IN JA F AT, FF T

e 3R Ta? A9 A (B, TH T § EfAC T
9 ¥ 3HA F6 AT 9@, S F I3ver Fo Qe @
& a1 Fél, & a1d Goll, Fo ¢8 AR BT Fo AT
&F W FE-§:F F °el F, §7 TH o419 ¥ R a7
e Pt A g &, Fow o @R a8

T F fAuUE 3T W, o JWEAAr F AR TS

g A e, ITATE IR, St s F AR W TF
T §Ud 9 TS Tel, WO A Sl FR qS

3T 39T IR WET FAT, HTETE E SR arer

T @Y 99 & 3R WY, 7 IR Seue dis T
3YYFA ISIIT Y TgHT Al & AT dTel G FT e I3Vl
weeT: 9 FE A I § ar R ¥ A?

1. 31 T RE

2. AGATT T aE
3. 9@ & aig
4, SEd & W e

Correct Answer :-



10) g damat A FAT gEA, AT YT HeA T g
AEA FT ATAA WY TAT, §H YA 30T A§T Tqo

T FH Sead Fofl, Y T a6 9o el

T FEd @ @ AT, IN JA F& AT, FF T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 9@
I & 3FH F6 AT A, S F 39w Fo Rw T
& a1 Fgl, & a1 o, I £ AR W Fo Av
SF W GE-§:@ F Hel #), §7 0F 09 & Rw =
&H a1 gfaar A, Toee e WR Td

T & AU 3T W, F FAEAT FT AR T

& A W, J9AE W, St T F AR AT TH
§H g8a gua 3T Jel, Wil # arelt R T

e AT AR W F, HEE E IS ae

& &Y 99 & 3R @Y, §H HUA Teud dis g
39T I Y YGHT Al IS SR q WA HT e sl
YeeT: 36 YT F1 3 ofife aame?

1. FAST-FEA

2. BIhIHEN

3. QAT-3IRTH

4. Qarat H g

Correct Answer :-

o St o gEdr

11) g daEt A F41 g, AT YT HeA Tl g
AEA FT ATAA WY TAT, §H YA 330 AdT °qo
T T Sead Fefl, Y T a6 9o el

T Fgd @ @ AT, IN JA F& AT, FF T

fFe 3T T2 A9 ¥ I@), @ goe ¢ safav 9@
I ¥ 3FH F6 AT A, S F 39w Fo Rw T

& a1 Fgl, & a1 o, I £ AR W Fo Av



BF W FE-§:F F °l F, §7 0F o9 ¥ R 9@
go st i gfaar #, Wees qee @R T

T F fAUE 3T W, o JWEAAT FT AR TS

g AT e, ITAT IR, St s F AR W TF
§A g9 §9d AT IgT, VUi T el FR T

3T 39T HR WET FAT, HTETE E SR arer

g T 99 & 3R WY, & IR Seue dis T
3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3Vl
weaT: daral w1 R ara @1 Fr A€ @ar?

1. JATIRI AT

2. ol

3.59H § Pl

4. Hellel

Correct Answer :-

12) & damEt i FA1 gEAl, AT TgT FA q@T ao
HEA HT A G T, §H YA 331 STel T

3T ST 3o FHl, TG TAHT a6 o 73T

T FEd @ @ A, IN JA FA AT, FF T

e 3R TA? A9 A (B, TW T § sEfAC T
9 ¥ 3HA F6 AT 7@, o F I39er Fo Qe o
& a1 Fél, & a1 G, Fo g8 A BT 3o v
BF W FE-§:F F °l F, §7 0F o9 ¥ R 9@
gx st i gfaar A, Wees qee @R T

g 0 faerel X @, A IWhAdT F AR T

g A IR, AT IR, St s F AR @ TF
§A g9 §9d AT IgT, WU T el FR T

3 9T R W 41, e W@ T A

TH @Y 9 ¥ 3R wEd, g6 IUA geua dis T
3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3V



yeat: St dare @1d € 9 fnelt BrEwdr o ol = e @2
1. gd-glerd

2. TOAT-TAT

3. AR

4, TITOG WR

Correct Answer :-

13) & diamat Y FAT gEA, TS YT HeA TgT do

HEA HT @A TG T, §H YA 33 e T

3T ST 3o FHl, ATH TAHT a6 o 73T

T FEd @ @ AT, IN JA FA AT, FF T

e 3R TA? A9 A (B, T T § sEfAC T

9 ¥ 3HA F6 AT 9@, S F I3ver Fo Qe @

& a1 Fél, & a1 ofl, Fo ¢4 AR BT Fo AT

&F W FE-§:F F °el F, §7 T o419 ¥ R 9

e Bt A g &, Fows o @R a8

A & fAuE 3T W, & JAGAT F AR T

g A e, AT IR, St s F AR A TF

§H gua gua 3T Jel, wioit Y arelt gR T

3T 39T HR WET FAT, HTETE E SR arer

g T 99 & 3R WY, 7 IR Seue dis 9o

3YYFA ISIIT Y TgHT Al & AT dTel G FT el IABTI
YT 36 Faar & HgaR Bt st fyam F = FwA w1 A Siaht §2
1. Tad & &l

2. 91 A T

3. 3IRTHA A B

4.%h T Pl

Correct Answer :-

o Tod B &



14) g& daEt A FA1 g, AT TgT HA Tl g

AEA FT ATAA WY TAT, §H YA 30T A§T Tqo

T FH Sead Fofl, Y T a6 9o el

T FEd @ @ AT, IN JA F& AT, FF T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 9@

I & 3FH F6 AT A, S F 39w Fo Rw T

& a1 Fgl, & a1 o, I £ AR W Fo Av

SF W GE-§:@ F Hel #), §7 0F 09 & Rw =

&H a1 gfaar A, Toee e WR Td

FH F e 3T €W, o JWEAAr FT AR TS

& A W, J9AE W, St T F AR AT TH

§ §9d g9 TS Tegl, ol Y Al §R T

3T 39T HR W F41, AHEE & Fhe arer

& &Y 99 & 3R @Y, §H HUA Teud dis g

39T I Y YGHT Al IS SR q WA HT e sl
ge: Y A dlae gl § § §ER § FUT Fd W87
1. 3TA-STd W& &

2. 38 FAH P O

3. g FR &

4.3% dd ¥ 35 &d B

Correct Answer :-

15) g damat A F41 g, AT YT He Tl g
AEA FT ATAA WY TAT, §H YA 30T AST Tqo
T T Sead Fofl, Y T a6 9o el

T Fgd @ @ AT, IN JA F& AT, FF T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 9@
I ¥ 3FH F6 AT A, S F 3G Fo Rw T

& ot Fgl, & a1 A, I £ 3R W Fo Av



BF W FE-§:F F °l F, §7 0F o9 ¥ R 9@

& Bt i gfrn §, wows goe wR 9

T F fAUE 3T W, o JWEAAT FT AR TS

g AT e, ITAT IR, St s F AR W TF

§A g9 §9d AT IgT, VUi T el FR T

T YT IR W F, IS E TFA S

g T 99 & 3R WY, & IR Seue dis T

3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3Vl
TeT: HfF & HI A A Foarw AR T F Y 9T F 6 AT FAT FET 87
1. fre = Seord &1 3R fvE g@ &1 udle ¥l

2. 388 :W Foohl GIe &l

3.389 Sl AL g ¥

4. 508 X A& T gl

Correct Answer :-

- e Soomrw &1 3R fave g@ @ i g

16) ot ff gume & fafte enfe qass, urftie agemdl, fafusr s Sggt, Al Swefaat eiv sfaay #t
e @) 39 JHTe @ fafaedar wed &1 afe fafderarait ara feeh s & fafier enfde qad, aifife
Tyerat, faftm yrars wugl, fafte depfaal snv Shfaal ot Mgt o 8§ waTe 3t fafaear weq 81 afe
fafaerarait ara 331 Y 919 B WA A YR F JgR ITE0T 3R B T 8 Wpar | HRa | A F am
Tt gRe7 4wt &1 A 9T G ¥Ed 8 | URd B §9RI HTHTE, S-SR WTH U, S/aT-3eT Uik 3R avE
TE B WRPpd g@ P! et g1

TS fAuTeH SR Torifa: S1fdT & witre fasra & Rigia & srgaR ot Jad fbe glar § a8t Rigr
Trar 8 | Al Y foier 381 & R enfifer &0 & araat - gt 81 enfifer araw! I wuTe § Sar v U
g urar 81 3faer A ¥R Aes) Ierevur ¢ o enfife wu & wud 7e 7 enfife T U | FHwR ¢ W) e
forar | o saferd far Smar 41 Tife TaTeE ofR Wfd & Eidl IR UPITUSR $1aH 8 b | T fafaear
BT I R TR i aral w® R o 8, s Frafafad §: a8 59 a9 w AR o & & @ st
ITHIRIS UgaH &1 {59 U A Ad 81 afe ahT 3= 3y &) fafRiy a=A @vre € &) 0 # gmnfore fafauar &t
T U GG g1 a1 § | a1 fad Teer ot /il 3 5 ave S U Hvd 71 3 g ot i w
maﬁﬁuﬁmﬁ%mﬁﬁﬂﬁwaﬁmﬁwmﬁwm%amm&w
|

YRd & YT 3o & Garfas ot oifd sgawyt a1 i 39 AR TS &1 ST & ATYR U IR JYgI J aler
T AT fhY ot v 18 B 1% geand) aurer & it syawt <t AT awg e & ary v Ot wnfa ar qof
a1 fapfia g3 ot 59 919 W snmunia § o [t safew o1 w1 forwr winfar o gam 31 e gowa & U
F PRI R URA | 3T aTelt IRBRI $t IgRar! ifral ot adtaa i 3 siftre ai snyfe Rign &1
BTAST 33M T | 3P 3rarar Hifgar A ff U # SRewar A &1 w14 feur| 37 99 9rdl 4 Ues g
RN H SRSl BaT BT THGPR B ¢dT1 TS TRUTH 39 3@ $i 4 32 &1 I8 59 919 A UdT gl &
& ®¢ T &t A1 IWR BT A I & &Y St o & E ¥ | WS F o) vl ) Har § WSt A
AIpd BT RIS Haerd BT 31 TS WRA B AT & T g 3 $1 ufafificg IR # 3@ &Y fyaar g1
$HIY 3 $§ TP ¢ [P YR Ul U | U didpad a1 38T 8



SUT TR P UgHR A2 IR Y U= $T Ik Farsy|

URH: S & it fapr & Rigia & guR, g § #i4 fSier ¥ urar 82
1. 3 T &

2.5 Taw Rhe &

3.3 GeR @

4. S FHAAR &

Correct Answer :-

. S F98 e @

17) & W gurer A faft enfife qads, urftfer Tqera, fafie wrars wagt, fafte wwpfaat eiw sfaay #t

Hveift #Y 39 A Fi fafdear wed €1 afe fafgedasi ae 3o Ft a1d F 9 @ YR F I8 IS0 3R
BIS 781 81 GpdT | HRA & g1 & T gt ge1 ¢l o 1A are @i 38 81 HRd # gelRY HINTY, 3ferT-
ST W T, SET-3ET GRS 3R e a8 B Tpfa ¢uq ! firadt 21

TR AU 3R IeFif: ST & Bt e ¥ Rigid & ogaR & g4 five ga1 @ a8 Ricr e
ITaT 81 a7l B Rier w8 & ford enfifes w0 @ avadt weet gt 71 onfifes arast & ware ® San i e
gl urar 81 3faera A U} Adsi Sarevur ¢ forad onfie wu & Jud e 7 onfife ¥u | FHwR e R I
forar | Tar saferd fvar Simar ot aifs TaTee ofiR 2rfdt & Bidl W TS 1fUaR H1aw g | | | fafaear
P I TR afvomd 69 aral iR ik & g, ) Fafafed §: 98 39 99 = A7 $53a1 8 6 @ st
AP UgaH &1 fhd FU A dd & | afe @l 3 31y & fafRry a+ ovrd € ) 0 # grenfore fafauar &1
T U GiRhd 1 1T ¢ | el fhdl Yer &t 7l B} {5 avg I iR a8 | [Pt e St i w
mﬁﬁmﬁélﬁﬁwﬁmﬁwmﬁmm%ammw
|

YRT & YT JUf & GaTfad ot oATfd sgawT a1 A1 SHD AR G Bl B1d & ATYR U IR JYgI A aler
a7 o7 fHt 3 uar 1Y 3 6 oot gurer & it syt ot 1 A g dieq & w1y v At wnfa ar qof
T famRid g3 ot 39 919 W 3nmeia @ fr feft safey &1 w1 forwy winfar o gam 81 3o gwa & U
F HRUN AR YR & A ATl TRBRI B IgRATS e ot ggrerd s J e anr snyfe fRigm &t
BIAST I3[ T | 30 3rarar Hifgar A ff U # WRswdr A &1 w14 fear| 39 99 94l 7 Ues g
RN A SIRE s dT haM T TH@R o a1 9% U 3e 3@ &1 fird @ &1 U8 39 91d | udT gad1 8
fr $¢ T &1 391 IHR F G M & St Sl SIfd P 8T &1 IHTS P g 91 B I A TSGR T &
AP ad BT e Haad BIaT 81 3T HIRA | U &F T g% 3 1 ufaf g WReR # @A o1 frean 81
3YfoIT g Hg Yod § [P YR I8 AraA # U didpdd 94 8T B

ST TR F UGH -1 T T ¥Y $HT IR a3

wA: faredt ware o fafira snfa, enf oiiv enfifes wgg & @i & o1 $gd 72
1. T e

2. AT I fafaedr

3. 3¥cgaEdr &1 fawa

4. GIATTSD AT

Correct Answer :-



18) Tt it urer A faftra enfifer aad, urftfer Tgera, fafie wrars gl fafte ot eiw snfaat #t

Mgt &) 39 ware 3t fafyuar wga €1 afe fafdeasi ar 3z 3t 1 Ft 9@ 9@ YR A g ITEI0T 3R
H1E T 81 evdTl HRA A T & a1t it qReT 4T ) WA aTel @RT I8d & 1 HRd § gOlR) WTTY, 3re-
ST W U, SHENT-3E NP 3R aRE a8 P! TPpfa 3@ &) fAradt 31

TS fauTe SR Torifa: S1fdT & it fasra & Rigia & sgaR ot Jad fbe glar @ a8t Rigr
grar 8 1| agwl Y foier 381 & i enffer &0 & avaat o gt 81 onfifer araw! 1 e A Sar v U
g urar 21 3faera A ¥ Awsl Iarevur 8 Formd snfife wu A wug e 7 anffer U | FUEiR ¢ W) IR
a1 YT saferd faran sirar o1 aifd Tae SR Wfed & Wil W THIIUeR 199 8 9& | Jrnfore fafaemr
T oI W RO i aral W) R w7 g, S Frafafed §: 9 39 a9 w® ik s g @ s
TrTfore uga &1 5 U § A g1 afe @it o 3y i fafy e wvre € < 3 ° wrnfore fafyuar w6t
T 9T GiREd §) SiaT 8 1 el fad ayera 3t 1 3 {5 e 0w vd ¥ 5l aem S e w
maﬁﬁuﬁmﬁ?ﬁémﬁmwﬁmaﬁmﬁﬁ%ﬁmm%?ﬁmmﬁw
|

YRT & YT 3 & Garfas ot oifd sgawyt a1 i 39 AR TS &1 ST & YR W IR JYgI J aler
a1 41| fheft o var 8 @ fp et Tue # Ht et 01 AfFT Tug fian F 91y v R wfa ar qof
a1 fapRia g3 ot 59 19 W snmunia § o [t safew &1 w1 forwr winfar o gam 31 e gowa & uvra
F PRI IR URA | 3 aTelt IRBRI Ft IgRard! ifal ot adtaa ¥ 3 siftre ai snyfe Rign &1
B 3T & | 3% Sraral Hifgar 7 ot gure ¥ Snewdr bam &1 w19 f$Bar1 397 99 914l A fiss gu
AN § ST ST B @1 U R B feaT1 339 TR 39 ¢ &1 fird ¥ 81 98 59 91d | UaT 9adT @
& &< ¥R &t A1 IWR BT A M § &Y St S H T &1 A B 23 a1 D) Tl § WS S
AIpd BT RIS Haed il 8| TS WRd § AT & GOy 53 3 ST ufdf-iieea TReR § 3@ B fedar g1
ST 3 $§ TP & [ YR Fel U | TS dldpad a1 38T ¢

ST TR F) Ughv A12 IR 7T U= $T Ik Jarsy|

uz: e U A Aeigd 99, e +U APAWR JHE T FIhd 22
1. gz-fayror

2. 50 el

3. A

4, IR

Correct Answer :-

19) &t Wt gurer A faftm enfife aad, urftfe Tqeray, fafie wrars wagl, fafte wwefaat eiw snfaay 3t

et 3t 39 JaTe Ft fafdear vgd €1 afe fAfauasi ara 331 @1 919 $t 9 91 YR A IgR ISIE0T 3R
BIS 781 81 Gdl | HRd & gFrT & T 9t g1 T o 1A are @i I &1 HRd # gelR] HINTY, 3ferT-
ST W T, S(ET-3ET GRS 3R e a8 B Tpfd ¢u- ! firadt 21

graTiTS fAuTe SR Torifa: S1fdA & it faera & Rigia & sgaR ot 99w fbe giar @ a8t Rigr @
Trar 8 1 7wl Y foier 381 & R onffer &0 & avaadt o gt 81 enfifer arat 1 e A Sar v U
g urar 21 3faerd A ¥ Awsl Iarevur & Ford snfife wu  wug e 7 anffer U | FHR ¢ W) IR
forar | Tar saferd far Smar 31 aif TaTee ofiR Wfd & |idl W UHIfUeR $1aw 8 G& | | fafaear
BT I TR TR i 9l w® R wwar @, s el 8 a8 59 9 w AR o @ & @ sot



TTHIRS UgaH &1 f5a FU A dd 81 afe ahT 3= 3y 3 fafRiy aea @vra € &) 0 o grmnfore fafduar &t
=T U GiRpd g1 Srar 81 et frelt ayery &t 1l @) f$y ave ¥ I $Ra ¢ | A Jyer i v w
ma&ﬁuﬁ%ﬁ%ﬁ%aﬁﬁmaﬁnﬁaﬁm&mﬂ%ﬁmm%amﬂﬁﬁw

|

YRT & U= 30t & garfas ot oifa sgawt g A 39 AR TS &1 ST & YR TR IR JYg! § dier
a1 7| fhelt ot var A8t @ fop reendt Tue # Ht sgawat i1 AfeT wug dian & 91y v Wi winfa ar quf
T fapRia g3 <t 59 919 W snuTia § o [t safea o1 971 fory winfar & gam 31 il gowa & g
F PRUT MR URA | A qTel IRBRI Bt SeRAr! et ot adtaa ouftre @ it ar snyfe Riam &1
BHIGI 3311 @ | 3% Srarar Wifgar A ot gure # SeRewdr bam &1 w19 f$ar) 397 99 a1l A fiss gu
AT H SITRe T Bam & TR SR 3011 9% UfRond o« 31 & fira ¥ 81 98 59 919 I vdT IadT 8
5 o VN T a1 IHY B WHA M & &) St Sifay & 1) ¥ | THIS & g & D) g1 § el &1 &
AP dd BT el HAad BdT 81 3T HIRA H FHS & T g% aFf 1 ufaf g IR # @4 &1 frean 81
ZHfoTT g9 HE Pd & [P YR I AU # U didpdd 94 8T 2

ST TN H! TSP 1R U Y Y9 BT IR ad1s5¢|
U e et | A B Hgl SHa1 I firerar 82
1.3Mq &

2. A A

3. qATST A

4. HEI H

Correct Answer :-

o AT H

20) fo=dt o T ® faftr enfdfe aass, enfife Ty, faftm wrars augt, fafts Twpfaay ik sifaal

Mgt & 30 ware 3t fafyuar wga €1 afe fafdeasi a 3w 3t 919 Ft 90 @ URT A g ISEI0T 3R
B2 7Y 8 Tl HRA A R & T 1l 78T 4T &Y WA aTel T X8d B | HIR § gOlR) HTTY, 3re-
ST AT T, SET-SET IR 3R aRE a8 Bl Gpid ¢E- af fiad 21

I AU 3R Ieifa: 1fd & witie fae™ & Rigia & sgaR it gaw fbe giar g a8t Rigr |
ITaT 81 ISl B RieT w8 & ford onfifes w5 & arawt st gidl 31 e aRaspt | WIS | SaT R e
g urar 81 3faerd A 3R As) Ierevur ¢ o enfiife wu & wud 7e 7 onfife T u | FHwR e W) I
a1 YT saferd faran siraT o1 aife e SR Wfe & il W UHIIUeR S1aH g G& | JTore fafaemar
BT e W gRome i aral w® R #=ar 8, S Fafafea € 98 59 99 w Ak owar @ & v soeh
TS Uga &1 f5a w0 # dd &1 afE A 3= 3y &) faflkiy a=A @ § &) 31 # arnfore fafaear #t
T YT GG g1 A1 § | a1 fadt THer &t /il 3 5y ave S U HRd 71 3 auen ot wi w
mﬁwmmaummwa&mﬁwmamm%ammw
|

YRT & YT 30t & garfae ot oifa sgawt g A 39 AR TS &1 ST & YR W IR JYg1 A gier
T AT At ot vt 18 B 1% geandt aurer & adt eyt <t dfe T awg dfiaq & ary v Ot wnfa ar qof
T faeRia g3 <t 59 919 W snuTia @ s [t safea o1 971 forr winfar o gam 31 e gowa & v
F HRUT AR YR & 3 aTell TWHRI B IgRare Hfaat &t sdtad siftre F it @t snyfae Riam &t
BIGI 3311 & | 3% 3rarar Wifgar 7 ot gure # SREwdr bam &1 w19 fHar) 39 99 a1l A fiss gu
AN § ARGl Ba & THR B (6011 39F TR 39 ¢@- &! fid ¥8 €1 98 $9 919 & UaT 9adl @
& o N &g AT IHY B WIHA M & &) St Sifay &b 1) ¥ | THIS & g & D) g1 § el S &



AP BT T AdAd BIdT g1 TS HIRd A FHTS P TTHT 8 T BT UfafAid IRPR A 3T &I fArear g1
YU §H $g UPd ¢ [P HRd I3 A § TP didad o ¥aT ¢l

STIT TR B UgHR 1 IR T YT BT I« AT
US: ISRAIC! Hifaal 1 aSiad Sifre-a-3ifire anT fraer B 3o @ ?
1. IRFURH e

2. Ui cgaEam

3. 3myfereh e
4. 3P cgaEAT

Correct Answer :-

o INYAS A&

21) ot oft wure ® fafi enf¥fe aads, arfife Tyuern, fafie yrars TE, fafts Twpfaal eiv sfaal @t

Hieeht oY 39 AT B Ay $ea &1 afe RAfduyars are 32 #1 a/a $ 91 6 4R | g S0 3R
HIs 1 8 TPaTl HRa A giar & Ty it g ot B A ard @R g 8 1 WIRa W §9TRY HTTY, Sre-
ST W T, SET-3 YIRS 3R e a8 B Tpfa ¢uq o1 firadt |1

TS fauTe SR Yerife: S1ifdT & wfte e & R & AR s 9ad fibe giar @ a8 Rigr @
uTaT 81 agsl Y Rl w8 & o enfifes wu @ avadt evet gidt 81 sinffes avawt ¥ wHe ¥ Sar R U
gl urar 21 3faerd A U oS! Sarevvr ¢ o onfiie U | Wud e 7 onfiife ¥u | $HwR ¢ W) AT
forar | TaT safer fooar Smar ot aifes Tomee iR wfdd & Hidl W UHIIU®R $1aw 8 G | JraTore fafaear
HT Ao W gRome i ol w FeR war 8, 50 Fafiafed 838 59 99 w AR o 8 fF b soeh
TS UgaTH ! 69 ®9 # A &1 i T U= 8y o1 ARy #-9 @9rd & a1 81 & "rmere fafauar &t
T U iR 81 ST € | IodT fhl THer ] HivMl B [ dve |48 $d ¢ | fhdl T &1 /i )
mﬁﬁuﬁm@?ﬁ%wﬁﬁmaﬁmaﬁwmﬁmm%ammﬁw
|

YRT & YT 30t & garfas ot oifa sgawt a1 A 39 AR TS &1 ST & YR IR IR JYg1 H aler
T A1 faelt &Y uar 1 @ o oot ware # it sgawn B afe g dan & Ay v Tt ar qof
a1 fawRia g3 o 59 919 W a3 % faelt safaa &1 o= fora snfa & gen 21 Siioh gwa & uvta
F HRUT AR YR & M el TRBRI B IgRATS e ot agtad if¥re F i anr snyfe fRiem &7
BIAST I3[ T | 39S 3rarar Hifgar A ff U # WRewdr A &1 w14 fear| 39 99 9ral 7 Ues g
RN H SIRE T e T TH@R o a1 39 TR 39 3T &1 fird 7@ 1 U8 39 91d | udT 9ad1 8
6 ®< WA &g Aa1 IWR B WA M § &) Sl Sfa b e &1 A b g) a1 ) Fe A AR 1 €
AP dd BT el Haad BIaT 81 3T HIRA A JHS & T g% ¥l 1 ufaf it WReR # @4 1 frean 81
ZYforT g $8 I&d § [P YR I8 AraA # U didpdd 94 8T &

ITYe TR B! TSP AR U Y ¥R BT IR 9d13¢|
wH: HfSar A qure § a1 bam &1 s e g2
1. HTHS a1

2. FqTHAT

3. SITRST

4. QIATTSTRAT



Correct Answer :-

22) fadt o T ® At snf¥fe aass, enfife Tuemr, faftm wrars augl, fafts Twpfaay ik sfoal

et 3 39 waTe Ft fafdear wea €1 afe fAfauarsi ard 3z @) a1d $t 9 9 YR A AgaR ISE0T 3R
B2 TEY 8 Tl HRA A T & T 1l 78T 4T ) WA aTel T X8 B | MR § gOlR) HTTY, 3re-
ST T T, SET-SET IR 3R aRE a8 Bl Gpid ¢E- af fiad 21

T AU SR Ieifa: S1fd & witie fas & Rigia & sgaR it gaw fbe giar g a8t Rigr
ITaT 81 ISl B RieT w8 & ford onfifes w5 3 axawt st gidl 81 s aRaspt | TS | SaT R e
g urar 81 3faerd A 3R As) Ierevur ¢ o enfiife wu & Tud 7e 7 onfife ¥ U | FHwR e W) I
a1 YT saferd faran siraT o1 aife e SR Wfe & Hidl W UHIIUPR S1aH g G& | JTfore fafaear
BT e W gRomy i aral w® R #=ar 8, <) Fafafea € 98 59 99 w Ak owar @ & v soeh
TS Uga &1 f5a w0 # dd &1 afE @ 3= 3y &) fafkiy a=A @ § &) 31 ® arnfore fafaear #t
T U GG g1 a1 § | a1 fadl THer &t /il 3 5y ave S U HRd 7 1 3 auen ot wi w
mﬁwmmaummwa&mﬁwmamm%ammw
|

YRT & YT 30t & garfae ot oifa sgawat a1 A 39 AR TS &1 ST & YR W IR JYg1 H gier
T AT 5} ot war 18 3 % geandt aurer & ot eyt <t dfe T awg dfiaq & ary v Ot wnfa ar qof
T fapfia g3 <t 59 919 W snutia @ s [t safea o1 971 forr winfar & gam 31 i gwa & g
F PRI R URA | 3T aTelt TRBRI Bt IgRaAr! Hiferal 3t adtaa s | siftre ai snyfes Rign &1
BHGI 3311 & | 3% Srarar Hifgar 7 oft wure § SrE®ar bam @1 o1 [$arl 39 99 a1l A fiss gu
RN A SIREwdT baM T 9@ R B 1| 386 TR 3@ @ @f {38 &1 I8 59 a1d | vdT gad1 8
& o T 49 A1 SHR HT AA MY ¥ S St onfer & Y ¥ 1 WS & o) O Y WAl A WeieRY &A1 &
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ZHfT §H B8 hd & [P YR Jg! A1A1 # UP Wichaa 9736184

ST TR $I Ugh - I 7T U= $T I« a1l

< afe frelt Ter &Y wi &t G a8F F 9T orar @ o 399 IS T 96 82
1. JUHE

2. Tae

5. gt

4. SERTEA
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23) fadt o T ® At snf¥fe aass, enfife Tuer, faftm wrars augl, fafts Twpfaay sk sfaal

et 3 39 waTe Ft fafaear wea €1 afe fAfauarsi ard 3z @) a1d $t 9 9 YR A AgaR ISE0T 3R
B2 7Y 8 Tl HRA A R & T 1l 78T 4T &) WA aTel T X8 B | MR § gOlR) HTSTY, 3refT-
ST AT U, SET-SET IR 3R aRE a8 Bl Tpid ¢u- af fiad 21

I AU SR Ieifa: S1fd & witre fae™ & Rigia & sgaR it gaw fbe giar g a8t Rigr
grar 8 | Al Y foieT 381 & R onffer &0 & araat o gl 81 onfifer araw! 3 wuTe § Sar v U
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ITYE TR B! TSP AR U Y U= BT IR ad13¢|

WH: afe ART U 39 Hi fAfRIy 7= @vrd & ol 1 Wk § Us 11 82
1. TEI Tehdl

2. 31 d HUeatdr

3. GrATTSIh fafaerdarn

4, Ao Hieg
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. iAo fafaear
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ST W U, SET-3 YIRS 3R e a8 B Tpfa ¢uq o1 et 21
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gl urar 21 3faerd A 3R Aes) Ierevur ¢ orad onfife wu & wWud e 7 onfife ¥ U | FHwR e W) e
forar | TaT sHferd far Smar 31 Tif TaTeE ofR wfdd & Bidl W UHIU®R $1aw 8 G | |rTere fafaear
P eI R givomd fiF aral wR iR &7 8, s fRufafad 8: 98 39 99 w® AR $7ar & 76 & st
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YR & YT 30t & garfas ot oifa sgawt a1 A 39 AR TS &1 ST & YR IR IR JYg1 § dler
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T fapRia g3 ot 59 919 WR nuTia @ 5 [t safea o1 o171 fory winfar o gom 31 e gowa & uvma
F HRUN AR YR & 3 el TWHRI B IgRare et ot sqrad siftre J i anr snyfae Riem &7
BT 36M T | 39S 3rarar Hifgar A ff U # SWREwdr A &1 w14 feur| 39 99 94l 7 Ues g



AT ® SITRe e dT Bam & TR SR 13011 9% URRune 3 3 & firad 78 &1 98 39 919 I udT IadT 8
& o N &g AT IHR B WIHA M & &) St Sfay b ) ¥ | THIS & g1 & D) G § Gl S &
P dd BT ATl Haad BdT 81 TS HIRA H HHIS & T g% 3 1 ufaf g TR # @4 &) frean 21
I gH ¢ U d ¢ f HRd g 4199 § U didhdd a9 el e

ST TR F UgHR A1 IR Y U= $T I« Jasy|

T ST IR Wfd & Wil W UPIRIPR & T doigd TP $HER TR AT $3al 82
1 TR ©

2.3 8T ©

3. fues &

4. T HAT §

Correct Answer :-

o T HIT &

25) fadt off T ® At snf¥fe aass, enfifer e, faftm wrars augl, fafts Twpfaay sk sfoal

Mot o 39 waTe F fafdear wea €1 afe fAfauarsi ard 3z @) a1a $ 9 9 YR A AgaR 3BT 3R
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2. T
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4. Targ
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IUa TR P UgHR H1Y IR T U= $T I} Tarsy|
U R 99 § Bt Sepfa it 22

1. P A

2. TpE

3. Thol
4, IE-aE Hr
Correct Answer :-

o dE-adlE P

27) f=it o T ® At snf¥fes aass, enfifer e, faftm wrars augl, fafts Twpfaay sk sfaal

Mot 3 39 waTe F fafaear wea €1 afe fAfauarsi ard 3z @) a1a $ 9 9 YR A AgaR ISE0T 3R
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3. 3rcgaeAr

4. Sfa cgaTAT
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o SIS cTaEAT
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4, q@rIe
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1. Teh TSIad

2. Th i



3. T 3YaT
4, T YAdT
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o TP Alhdd
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Topic:- General English(L2GE)



1) Read the poem carefully and answer the question given below:

The most bittersweet thing
About the experience of reading
Is the ending
You don’t know whether to be happy
For getting that sense of closure
Or to be sad for reaching the

End of yet another adventure

The word which rhymes with whether
1. leather
2. bother
3. mother

4, father

Correct Answer :-

o leather

2) Read the poem carefully and answer the question given below:
The most bittersweet thing
About the experience of reading
Is the ending
You don’t know whether to be happy
For getting that sense of closure
Or to be sad for reaching the
End of yet another adventure
At the end of a book , the speaker experiences:

1. terror
2. delight
3. happiness

4, sadness



Correct Answer :-

e sadness

3) Read the poem carefully and answer the question given below:
The most bittersweet thing

About the experience of reading

Is the ending

You don’t know whether to be happy

For getting that sense of closure

Or to be sad for reaching the

End of yet another adventure

When the speaker says she feels bittersweet about reading, it means she:
1. has mixed feelings about the experience of reading

2. hates reading

3. loves the experience of reading

4. finds reading very boring

Correct Answer :-

« loves the experience of reading

4) Read the poem carefully and answer the question given below:
The most bittersweet thing

About the experience of reading

Is the ending

You don’t know whether to be happy

For getting that sense of closure

Or to be sad for reaching the

End of yet another adventure

Give synonym of the word adventure.



1. inertia
2. latency
3. certainty

4. escapade

Correct Answer :-

e escapade

5) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always did.
Why did he change, she wondered? One thing Mia certainly knew from all the books that she read
was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it". She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked up
to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you go
elsewhere and just not bother me?”

Why did Mia approach Amir?

1. She believes everyone has a story

2. She wanted him to hoist her on his shoulders and run
3. She wanted to know why Amir had changed

4. He was a bully and she wanted to tell him that

Correct Answer :-
e She wanted to know why Amir had changed

6) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always did.



Why did he change, she wondered? One thing Mia certainly knew from all the books that she read
was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books 'To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it"”. She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked up
to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can‘t you go
elsewhere and just not bother me?”

What does Mia realize by recalling, ‘You can never really understand a person fully until you climb
into his skin and walk around in it.

1. Amir was a bully
2. Amir was a friend
3. Amir was rude

4. Amir had a story

Correct Answer :-

e Amir had a story

7) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always did.
Why did he change, she wondered? One thing Mia certainly knew from all the books that she read
was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books 'To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it"”. She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked up
to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can‘t you go
elsewhere and just not bother me?”

What did Mia remember with nostalgia?

1. A favorite book ‘To kill a mocking bird’

2. How Amir was fond of her

3. How Amir used to hoist her up on his shoulders

4. Amir the bully



Correct Answer :-

* How Amir used to hoist her up on his shoulders

8) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always did.
Why did he change, she wondered? One thing Mia certainly knew from all the books that she read
was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books 'To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”. She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked up
to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you go
elsewhere and just not bother me?”

In the passage, who is the bully?
1. Everyone who has a story

2. Mocking Bird

3. Amir

4, Mia

Correct Answer :-

e Amir

9) Fill in the blank with the correct option in the given sentence:

The jury recommended clemen-- in reporting.

1. --ts
2. --ce
3. --sy
4. --cy

Correct Answer :-



10) Fill in the blank with the correct option in the given sentence:

Cinemaviewingisa_____ pastime among city dwellers.

1. popularly

2. popularity

3. popularized

4. popular

Correct Answer :-

» popular

11) Which of the following options best combines the two given sentences?
All of us started quite early. We missed the first local train.
1. As we started quite early, we missed the first local train.

2. Though we started quite early, but we missed the first local train.
3. Although we started quite early, we missed theifirst.localitrains

4. Whenever we started quite early, we missed the first local train.

Correct Answer :-

» Although we started quite early, we missed the first local train.

12) Choose appropriate articles for the given sentence:

Vasudha informed __ HOD that she would be coming ____ hour later than usual.
1. no article required, an

2. an, the

3. the, an

4. a, no article required

Correct Answer :-

e the, an



13) Choose the appropriate option that rewrites the given sentence in its active voice.
A lot of rubbish has been thrown on the streets.

1. They had thrown a lot of rubbish on the streets.

2. People are throwing a lot of rubbish on the streets.

3. People have thrown a lot of rubbish on the streets.

4. We have been throwing a lot of rubbish on the streets.

Correct Answer :-

» People have thrown a lot of rubbish on the streets.

14) Choose the appropriate tenses to fill in the blanks in the given sentence :
People who the evidence at the trial at the outcome.

1. were hearing, was surprised

2. had heard, were surprised

3. heard, are surprise

4. are hearing, are surprising

Correct Answer :-

» had heard, were surprised

15) Choose the appropriate antonym for the highlighted word in the given sentence.

How could he desert his wife and child?
1. rescue
2. protect
3. defend

4. accept

Correct Answer :-

» protect

16) Choose the appropriate pronouns for the given sentence:



Ranveer saw in the mirror whenever got dressed.

1. himself, he
2. them, he
3. myself, |

4. herself, they

Correct Answer :-
e himself, he

17) Choose the appropriate prepositions for the given sentence:

The thief ran a cave that lead him _____ a waterfall that fell the river.
1. into, to, into

2. from, for, onto

3. from, in, on

4, for, into, across

Correct Answer :-

¢ into, to, into

18) Choose the appropriate conjunction for the given sentence.

Do you like tea coffee?

1. but
2. yet
3.or
4. if

Correct Answer :-



19) Choose the appropriate synonym for the highlighted word in the following sentence.

He could not achieve success because of his cavalier attitude.
1. haughty
2. diligent
3. amiable

4. humble

Correct Answer :-
* haughty

20) Choose an appropriate modal for the given sentence:

We will not eat until the guests are here. They not have had their breakfast.
1. should
2. might

3. shall

4. can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

These days the villagers have spotted the fallen hero drink like a fish at the bar.
1. be like a fish in water

2. to drink heavily

3. enjoy a drink or two

4, cause a lot of disturbance

Correct Answer :-

» to drink heavily

22) Choose the option that best explains the highlighted expression:



The vice president of the company gave his subordinates a piece of his mind when the sales figures
nosedived.

1. pitched in
2. reprimanded
3. advised

4, accused

Correct Answer :-
e reprimanded

23) Choose the option that best transforms the sentence into its Indirect form:

‘Call the first witness,’ said the judge.

1. The judge told them to call their first witness.

2. The judge commanded them to call the first witness.
3. The judge said them to call the first witness

4. The judge called the first witness.

Correct Answer :-
* The judge commanded them to call the first witness.

24) Choose the option that substitutes the given phrase appropriately.

A person hurt or killed in an accident
1. Casualty

2. Martyr

3. Patient

4. Injured

Correct Answer :-

e Casualty

25) Read the sentence carefully and choose the option that has an error in it:



Someone who has ever tried to pick up spilled mercury will agree that this element is hard to handle.
1. will agree that this element

2. is hard to handle.

3. Someone who has ever tried

4. to pick up spilled mercury

Correct Answer :-

» Someone who has ever tried

26) Change the given sentence to Indirect speech.

The king said, “Is there no one who can venture an answer here in the court?”

1. The king asked whether there was no one who could venture an answer there in the court.
2. The king asked whether there was no one who can venture an answer here in the court.

3. The king asked whether there is no one who can venture an answer here in the court.

4. The king said that was there no one who could venture an answer there in the court.

Correct Answer :-

» The king asked whether there was no one whoscould venture an answemthere in the court.

27) Fill in the blank with the correct optionin the given sentence:

If a river flows above its banks, we say that the river is --flowing.
1. super--

2. sub--

3. under--

4. over--

Correct Answer :-

28) Fill in the blank with the most appropriate preposition in the given sentence.



A thorough search of the aircraft was carried out the airport.
1.in

2. during

3. at

4, above

Correct Answer :-

29) Choose the most appropriate determiner in the given sentence.

John hasn’t seen evidence to convince the police of the crime.

1. any
2. all
3. enough

4, a

Correct Answer :-
e enough

30) Choose the right tag:

I wrote to my uncle yesterday, ?
1. didn't I

2.did I

3. haven't I

4. do 1

Correct Answer :-

o didn't1

Topic:- Social Science (SSC)



1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This was
quoted by: / "U% UREISHT Yuf w0 § T I gyl wfafafyr et 8, it v qrenfore arararor # St et
21" 98 379 §RT Sgyd fbar T um:

1. William Kilpatrick / faferzar forerdfesn

2. John Dewey / it grdr

3. John V. Michael / S Y. dAgdh

4. Stevenson / Td=ga

Correct Answer :-

« William Kilpatrick / fafermer fredfees

2) Constructivism as new philosophical approach for curriculum designing focuses on: / UTGdshH

feomsfin & o U anife TR S Fud @ramae W 9 S srar 3
1. Intrinsic motivation of the subject/ fawg &7 ARk 3fAUROM

2. Delayed punitive mechanism / f@fdd garcad womelr

3. Extrinsic motivation of the learner / & &Hr arer rfTToT

4. Immediate reinforcements / dcohlcl Qj%ilEFRUI

Correct Answer :-

« Intrinsic motivation of the subject/ Taw (el STk HfFURTM

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / CaC k| Slﬁl'qu, 3ia:fawg % AR ﬂﬁﬂ, O-
R AR W s $3a v 3, R o 3t e & e ve ymire, arafas g 1 e
W T siran 32

1. Experimental / 9Ta1f3Teh

2. Curriculum Based / UrodshdHA 3T

3. Project Based / GRS oX 3marikd

4. Rote Learning / Ed AT

Correct Answer :-

« Project Based / URANSAT U 3meamikd

4) Which among the following is an example for institutional credit? / fFafafaa # @ 19 91 SR
UG & 1T TP ST 82



1. Moneylenders / HTghR

2. Primary Agricultural Credit Societies / Urafder Hf¥ ar@ afafaar
3. Traders / SATARY
4, Landlords / SHER

Correct Answer :-

« Primary Agricultural Credit Societies / UTTHD ?ffﬁf arg gfAfaar

%) Which is not a quality of an evaluation tool? / Gk Ry HAih IUDBI BT Tora=IT T8t
?

1. Validity / d&rar

2. Practicability / cTTagTRepdT
3. Objectivity / fasgatar

4. Subjectivity / SIThUIhdT

Correct Answer :-

« Subjectivity / SIhUIehdT

Match the following :

1. Poona Pact A, 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
K]

. Simon Commission c.1932

. Gandhi Irwin Pact D. 1927

i =N

| FEATTET T A w1

1. 9T TSt A.1925
2. g Tad Ew W | B, 1931
3. FEAR FIRA C. 1932
4. Trefr-safEe wesiar | D. 1927

1. 1-A,2-B,3-C,4-D

2. 1-C,2-A,3-D,4-B



3. 1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B,4-A
Correct Answer :-
« 1-C,2-A,3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of the

following? / 31 P gl ¥ Udell SHeafer 3R &faw geeig 93 A o | = weard! &2
1. Lava / @

2. Locolith / oteiferdr

3. Plutonic rock / Tefelfeieh =eere

4, Dyke and Sill / 3B® 3R &

Correct Answer :-

 Dyke and Sill / 3/3& 3R e

8) The method which provides a certain degree of reality and concreteness to a learning situation is

known as: / a8 faf¥ Sif siftrTH fRufY 3 areafamar SR Ri@ar UeM $Redt 8, 39 =1 Fe1 91T 8:
1. Lecture—Discussion / RS-
2. Field trips / &9 e

3. Dramatization / ATCHT FATA

4. Demonstration / U&QleT

Correct Answer :-
« Dramatization / =TehIT FUTAT

9) Who among the following started the Home Rule Movement in India? / Rd H A &
et farafaf@a & & fFrad gamr 4 fear

1. Annie Besant / Tl 98
2. B.R.Ambedkar / &. 3IR. 3{dsH

3. Jawaharlal Nehru / STdTeY ollel r\leif\

4. Subhas Chandra Bose / '\33-111:[ IJg (g

Correct Answer :-



« Annie Besant / Tt s

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / &l
vy #fFa ¥a & N A9s F R INER F dreds W B

1. Meerabai / HRTETS

2. Chaitanya / e

3. Tukaram / JPRTH
4. Andal / 37coT

Correct Answer :-

« Meerabai / HRTETS

11) Who was the first surveyor of archaeological Survey of India during British rule? / fafesr
A & BRI HRAT GIcled TIETOT FT Ggell FARTOTHAT FieT UT?

1. Alexander Cunningham / 3TelFaiay dhfciere]
2. James prince / Si&d 0

3. James Fergusson / S1&d Hagde

4. Dayanand Sahni / GTeiG, el

Correct Answer :-

« Alexander Cunningham / 3TeldeisX hiciga

12) Who founded the Swaraj Party in 1923? / 1923 H ¥aUsT 9Tél 1 TAYT fhaa 2

1. Motilal Nehru and C. R. Das / Al ool ag® 3T A IR, e

2. Gandhiji and Jawahar Lal Nehru / aefsh 3R A T de®
3. Subhash Chandra Bose / gHTY Tg a9

4. Sarojini Naidu / TRISH! TG

Correct Answer :-

« Motilal Nehru and C. R. Das / ®IdT oTel dg&® 3R 1. 3R, gF



13) Who is the exponent of Jurisprudential Inquiry Model? / fafremes @t sirg Alsar &
yfaures *ieT 872

1. Bill Gordon / faer amsa

2. Richer Suchman / R=R ga&d
3. James Shaver / J1Fd X

4. Hilda Taba / feesT arar

Correct Answer :-

« James Shaver / S&g AT

14) Who was first elected to the British House of Commons? / f3feer g39 316 F1AH &
foT ge@ ggor R AT =T A9T?

1. Jawahar Lal Nehru / STaTeY ool &

2. Mahatma Gandhi / HGIcHT et
3. M. G. Ranade / TH.SIT. TS

4. Dadabhai Naroji / mﬂ-ﬂé R

Correct Answer :-

« Dadabhai Naroji / mlﬂéw

15) Capital of Ancient kingdom of Avanti was: / 37ddY & YTl WHTST HT Terar=r o
1. Vallabhi / Teeldfy

2. Pataliputra / ':n?i%rg'ar

3. Vidisa / fafem

4. Ujjain / 3ootet

Correct Answer :-

« Ujjain / 359

16) For what action in Freedom Movement is Usha Mehta known? / EadadT 31'@?47{ " FE
FF & AT 397 AgAr FEY A &2

1. Participating in Round Table Conference / TS T | YT o & fag



2. Running a secret Radio during Quit India Movement / HRd @ﬁ?ﬁ 3T & R T T?ﬁ‘%?ﬁ ENIE]
3. Captain in Azad Hind Fauz / 379Te fég ISl § &M 994 & faw
4. Captain in Indian National Army / R IS 1 H B

Correct Answer :-

» Running a secret Radio during Quit India Movement / HRd @ﬁ?ﬁ i & SRM Uh T?ﬁ‘%?ﬁ ENIE]

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /
FEAGIR 1 gfgy Afger arrw T i F FE gU F R@aw 731§ a9

1. Mughal / HITel
2. Adilshahis of Bijapur / iSlTqT & 3nfeeramer

3. Afghan / 3T%hdTTeT
4. Nizamshahi of Hyderabad / $eXTdTG & TASITHTRIRT

Correct Answer :-

» Mughal / 33Tl

18) The coin Rupiya was first issued whichiruler27 3930 fFhn ved dga 5w s F S
frar ar?

1. Humayun / §?=I'I'=’{
2. Babur / dTe}
3. Sher Shah / QX TS

4, Akbar / 3TheX

Correct Answer :-
« Sher Shah / T QTG

19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

Rcgre & aenfos Reer gahrerer safia F@ F1 99 @ 3527 &

1. Preserve and transmit the art and artifacts to the future generations / &ell 3R fRAcupiadt Hr
&I e 3R aifasa & dfedt e agamer

2. Create an artificial environment for recreational activities of students / Sl &7 AGR IR hAThHATIT

& forw ueh HRA ardareRor g4qm=r



3. Extend additional space for group activities and project works / &g TohaTeharal 3R TRATSTAT
Bt & ToT IFfARD TATT e

4, Translate the theoretical postulates in to concrete experiences / @W YRS &1 3
YAl T SfdTE HRAT
Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / W YRS BT 3
YAl T 3dTG HRAT

20) Two or more people learn or attempting to learn something together is known as: / gr 4T

#fF dr v w1y Fo @Ed § 31 dEa 1w w1 F, 59 AT wer e @
1. Learning by observation / 3id@dliched gRT 39T

2. Learning by doing / forareers 3Tt

3. Collaborative learning / dafed HTATH

4. Team Teaching / ol f2rayor

Correct Answer :-

« Collaborative learning / e TaTH

21) Which one of the following is not included as a function of Summative Evaluation? /

fmafaf@a & @ F1 dneAs FearFa & 'F F F T H aifdd 7@ 82
1. Promoting / Wicame

2. Selecting /7 IId

3. Diagnosing / fagre

4. Crediting / #F a1

Correct Answer :-

« Diagnosing / g

22) Which is associated with Sufi Saints? / &lsT &T '\‘lﬁ Hal ¥ 9efa g2
1. Sangha / €

2. Mandapa / #UT

3. Synagogue / FTIATITIST



4. Kanjah / T

Correct Answer :-

. Kanjah / &I

23) Which of the following is not a basic principle of Project method? / PFafaf@a & & Far
e faftr &1 s g Rguia 7@ 82

1. Validity / derar
2. Activity / arfafafa
3. Utility / 3g21farar
4. Purpose / 322%

Correct Answer :-

. Validity / 3o

24) Which of the following is the process of pinpointing the learning difficulty of a learner of a
learned material and to suggest remedial measures? / FFafaf@d & & a1 i §F I F &
fﬂmﬂﬁﬁmaﬁmﬁqummaﬁtmmmmaﬁﬁmw

1. Projective technique / &Y ddheileh
2. Norm-referenced testing / ATic HGTHd UGTOT
3. Diagnostic testing / AT Tdi&tor

4. Criterion-referenced testing / G Teidd fafar

Correct Answer :-

« Diagnostic testing / #aIfaied TIr&ToT

25) Which of following steps is not involved in Inquiry Method? / Y&-are faftr & sl @r =vor
anfer 718t 82

1. Encounter with the problem / §HTIT T HIHAT HIAT

2. Formulating an explanation / Th TTETAOT R AT
3. Data collection and verification / &=l Hae 3R Fearaa
4. Classification and consensus / g9ffeor 3R FTdEFATT



Correct Answer :-

« Classification and consensus / g3ffertoT 3R FIGFATT

26) Which among the following is not a technique for ensuring reliability of a tool? / fAFfaf@a
A F 71 Rrawdgar # gaRad @ At awedis T8 8?2

1. Odd-even method / §H fava fafer

2. Split-half method / fasrerare fafer (FPuee-gie AUS)

3. Test-retest method / GXI&TOT Gef:-UdraTor fafy

4. Criterion-referenced method / e Tefdd Y (FeecRua-Reizs Aus)

Correct Answer :-

« Criterion-referenced method / #AFEs Hefdd ATY (reeRaa-Rwiss AYs)

27) Assessing social relationship among members in a social group is termed as:

| TF WHATSF WAg # Hawdl F fiT Ao weul F Awed w AT wer S §
1. Projective technique / U&TUTl deheilch

2. Case study / & ¥T3r

3. Sociometry / HHTSATA T

4. Observation / 3fdcilchel

Correct Answer :-

« Sociometry / GHATSTATY

28) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 H WRT # a&e
W 3crg (SEd) F 3@ #1 R frae wfaera ar

1. 43%
2.31%
3.29%

4. 18%

Correct Answer :-

e 29%



29) Gandhian Plan was advocated by ./ IeiardY I T gAY F
&arT TR a3

1. M. N. Roy / ATTUGATYT T
2. Jayaprakash Narayan / STOURIRA ARTIOT

3. Narayan Agarwal / ARTI0T 3TIIdTel

4. Jawaharlal Nehru / STaTe{dlTl dg®

Correct Answer :-
o Narayan Agarwal / ARTIOT 3 IIdTol

30) National Forest Commission was established in the year . /ST qoT HTAET Y FTATIAT
a¥ # gg o

1. 2003
2. 2005
3. 2002

4. 2004

Correct Answer :-
e 2003

31) In which city was the first Automated Teller Machine (ATM) installed? / 99H
JreAes EoR 7elleT (Faanfara ot AefieT) (vdies) e e & Tuifa i o o

1. Chennai / I8
2. Delhi / fgeelt

3. Calcutta / delchdl

4. Mumbai /:g’a'é

Correct Answer :-

e Mumbai / aga'é’

32) Which of the following factor is not the geography factors influencing population distribution? /
famafaf@a & @ sla-ur FrF Fawear {awr #t ganfaa F@ arar spia FRF a8 82



1. Soil / T

2. Water / Orail

3. Climate / Sfefdrg
4, Industrialization / SefieRor

Correct Answer :-

o Industrialization /Gﬁm

33) FAO stands for ./ THUAT HT tI;Ui' T gl

1. Food Aid Organisation / |3 U3 Tiidhed NPABREA
2. Food and Agricultural Organisation / S Ug TfldhodR IRPTASIRIA
3. Federation for Agricultural Output / H3¥T BR Tfdhear 315¢gc

4. Federation for Agricultural Off take / P BR THheaT 3HTH eh

Correct Answer :-
» Food and Agricultural Organisation / %3 Ug Uifldho} Hﬁﬂ'l%@f A

34) politics is based on the idea that religionisithe principal:basis of social community. /

_ oy 5w RER W smaiia § Res aeiw SHaRrE wE s 3
1. Regional / 8131

2. Communal / oIS

3. Local / €T

4. Social / HTHATTSIH

Correct Answer :-

o Communal / GTUETRA$

35) Who said that, ‘As far as the nature of legislature is concerned it is such that there are restrictions
only so far as procedure is concerned. But in substance there are no restrictions, no limitations on the
sovereignty of the legislature or parliament.’ / fFaar w1 &, <tgT a9 QR fr qﬂfﬁf FT Y g,
ar wfaeer Faer ufear & weet & &, AfFar arafawar & RfufResr ar gug # awefar w F:5
yfaeer aidt §, F15 daw gt &)

1. Acharya Kripalani / I TEI?I'IF?[

2. Purnima Banerjee / QfOTHT deTail



3. N.V.Gadgil / Ta1.d1.amsfrer
4. Durgabai Deshmukh / E,:allalé SrHE

Correct Answer :-

« N.V.Gadgil / T amsfarer

36) Who can confer civil and military awards on individuals for their services and achievements? /

a3t AR syaferat & v =afFadl @ aefe sk 37 R Fia gaw w aFar
1. President / rgufa

2. Prime Minister / TUTeTHAT

3. Cabinet Minister / hfdate FT

4. Chief Justice / &I AT

Correct Answer :-

« President / TTgufa

37) Who was the first social scientist to make a systematic study of bureaucracy and described it as
rational and the most efficient form of organisation? / a'-ﬁﬁ%l'lﬁ FT YATYT HeTIA FI dTod 3T
W aFAId IR FISA FT FGH FAT T @dlle) JTel Gga AAIoIF daiars Hier, &2

1. Karl Marx / ‘Tl HIG
2. F. W. Taylor / T%h. Seeq, TR

3. F. W. Riggs / T%. 3eeg, Rod
4, Max Weber / AR IR

Correct Answer :-

e Max Weber / fl?ﬂréa?

38) Who was the first Chairman of Planning Commission of independent India? / Tad¥ Rd & JlstelT
ATIANT & ggol eTeT HiT 4?2

1. Morarji Desai / RSN avré

2. Lal Bahadur Shastri / oTel BRI ATET

3. Pandit Jawaharlal Nehru / Ufed STaelolid &

4. Dr. Rajendra Prasad / 21, oo g



Correct Answer :-

« Pandit Jawaharlal Nehru / Ufed SdTedelTl o-\lfdf\

39) Who is the founder of Bhartiya Jana Sangh? / HRANT FAHT & HEATIH HidT &2
1. Gopal Krishna Gokhale / 30UTeT HTuT el

2. Shivaram Rajguru / TG RS LIRS

3. Shyam Prasad Mukherjee / IUTH UHIG QI@Gﬁ'

4. Sukhdev Thapar / §@&T TR

Correct Answer :-
o Shyam Prasad Mukherjee / UTH UHIG EIEI\_rﬁ

40) Who will officiate as President till the new President is elected in case the office falls vacant and the
Vice-President is not available? / Tsgafa ®ATET & RaFd g1a 3R swrseafa & 3uesy gt @1 #ir
feufa # av wsgufa & PEiRe O aF Teufa & ¥ & Fia F-8 Fom

1. President Secretary / I€UTd AT
2. Prime Minister / TTTHA
3. Executive Secretary / SR TRd

4. Chief Justice / &I =TI

Correct Answer :-

« Chief Justice / &I =TI

41) The monetary assistance provided by the government for encouraging the production in an economy
./ FESTIEAT H 3cUIET A NedTfed Fa F AT WER @R & 715 AT wergan
gl

1. Tariffs / Ueh (ERW)

2. Subsidy / ISTaERIAT (AieEs))
3. Quotas / BreT

4. Embargo / SITUR Ui

Correct Answer :-

« Subsidy / TSI (GfTs))



42) When was the National Rural Livelihood Mission launched? / I IT#AI0T Jrsifdsr @A &
U& fHar = an

1. 2001
2. 2010
3.2002

4. 2011

Correct Answer :-

« 2011

43) “Explain the concept of Forests” — this question helps us to know the achievement of which of the
following objectives? / "dal $T HTUROT F ATEAT FII" - I§ W g eafarad & ¥ Fa
3642 1 IUATY AT H HEg AT 87

1. Skill / ierel
2. Creating / golel Al
3. Analysis / Ta&woy

4. Understanding / TH

Correct Answer :-

 Understanding / JHHA

44) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

farafaf@a & & 5w o & araas 1 Iedl F1 Tt I FT AT F?
1. Skandagupta / WH

2. Chandragupta Il / degd@ |l

3. Chandragupta | / degd[d |

4. Kumaragupta / $ARIY

Correct Answer :-

« Chandragupta Il / degdd |l

45) Who was the founder of the Holkar Dynasty? / BIA®R IS & HRITUP S A?



1. Bana Misra / STOT fie
2. Malhar Rao /[ HegR X[d
3. Baji Rao / STSit X1@

4. Madhav Peshwa / HI¥d Urar

Correct Answer :-

e Malhar Rao / HesR ¥4

46) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India and
Pakistan is located near which among the following? / 110 fFal#Hiex ol areafa®w A3z NS B
(eshdieen), St 9Ra 3R Tifrears & @i sRe A w1 8, Al & ¥ fFed Tee Rua &

1. Shakshgam / T&IITH
2. Siachen Glacier / FaTRIT TaIf=R
3. Sir Creek / O hIh

4, Srinagar / HIIR

Correct Answer :-

e Siachen Glacier / B=&TRIT TR

47) Which of the following organisations brings out independent reports on the violation of human rights all

overtheworld?/ﬁﬂmﬁﬁ#ﬁﬂ-mmq‘ﬁmﬁma?mwwm
dTaT 82

1. UNESCO / ge&ht
2. Amnesty International / T&1€¢! SeIAATA

3. International Humanitarian Law / 3icRRTEIT AT Plelel
4. UNDP / JuaAsId

Correct Answer :-
« Amnesty International / TFI¥<! SeIARIT

48) Which of the following is not a type of Urban Local Government? / fAmfaf@a & ¥ sila @t v =R
& el T WER AET 8?2

1. Zilla Parishad / {5t aRue
2. Notified Area Committee / TS &1 AT



3. Cantonment Board / BTdell g
4. Town Area Committee / hEAT & AT

Correct Answer :-

« Zilla Parishad / fSTelT URue
49) External criticism is applied in: / 9T RIRIEE]] i ?I'I'l];aﬁ STt %I
1. Experimental research / 9raifare W a1t

2. Quasi experimental research / 34 U IgaYT

3. Historical research / Xfdgri¥eh 31aere

4. Phenomenological research / EaATIAR 3gHUTA

Correct Answer :-

« Historical research / ¥fderias 34?3?[?11?-[

50) What is not true about Hasan Gangu Bahmani? / 94 7] 966+ & o~ H 94T 9 81 82

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole of
Deccan up to the river Krishna with its.capital-at Gulbargas« 3l 5T 3T TR &
I & WIS deb e AT, THHH J[eigat A AT TSR & HU FOON AGT db QU
GeRhe] AiFATeId AT

2. He was a Turkish officer of Devagiri. / & ¢afaifl & ueh Jebi A A

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. / &8 9] J&Ha, TgHA!
AT & EATH |

4. He founded the empire in 1437. / 3egial 1437 H TTHATST &I TATYAT Hr|

Correct Answer :-
« He founded the empire in 1437. / 3ol 1437 H TIHATST I TATTAT FHT|

51) Which among the following organization is the best example of an agreement between

Oligopolists? / FETITET & ¥ FHIH-91 WiTe+ SR (3Nfermuifere) & fa e
HHE BT HaH 3T IATEX0T 22

1. GATT / Shrwérér
2. OPEC / 3Ndigdt



3. WTO / Secg I3
4, WEF / 3ecggU®h

Correct Answer :-

« OPEC / 3(dis

52) Which one of the following ocean currents does not occur in the Atlantic Ocean? /

frafafEd o O $H-3 TR YRT sredifed AEINR | 81 gl 82
1. Peru current / 0% GRT

2. Canary current / HelT{l GRT

3. Gulf stream / ITe® TeIH

4. Brazil current / SITSiTel 9RT

Correct Answer :-

o Peru current / U® YRT

53) In which State of India is the Ranthambore Tiger Reserve located? / TR CIT'R feord

YR & fba Isa # Rya g2

1. Uttar Pradesh / StR UcxI

2. Madhya Pradesh / HET Ueer

3. Himachal Pradesh / T&dTael Ucar
4. Rajasthan / &A=

Correct Answer :-

« Rajasthan / TS&EIAH

54) When is 'National Education Day' celebrated in educational institutions at all levels across the

country? / &2 ST H WY TRl WX M@ wru=t & 'wsdw Raw Ry w9 A[=T S1ar §2
1. 151 September / 15 TdeaR

2. 121 October/ 12 3TagaR

3. 14" November / 14 FdsR

4. 11" November / 11 FdeR



Correct Answer :-
« 111" November /11 dAdeR

55) Which among the following is a wildlife trade monitoring network? / A&afaf@a & & sia ar
TF Jegsiig AR AR dead §7?

1. TRAFFIC / ¢fthep
2. UN-HABITAT / Jua-gdree
3. PETA / Uer

4.DISS / 2g

Correct Answer :-

« TRAFFIC / c¢fhe

56) Which year British transferred the capital of India from Calcutta to Delhi? / fF@ a¥ & fafeer o
WA T AT Fearhdl & Rodl TU=TaRa $ir o 2

1. 1912
2.1930
3.1911

4. 1900

Correct Answer :-

57) The pointer or arrow of the magnetized needle of a compass indicates which among the
following? / T RFga® (Feum) # gafra g§ &1 ga a1 R A=afaf@a & & Fa
$fra &ar 82

1. Geomagnetic North Pole / smazﬁm A qa
2. Geographic North Pole / Hianfores 3o qa
3. Magnetic North Pole / g?»ﬁﬁl'q LKl qq

4, Magnetic South Pole / gﬂzﬁ?’l gfeof qa

Correct Answer :-



« Magnetic South Pole / b afatofl ga

58) Which type of weathering is caused by Ice Crystal growth? / fg#r &t #1 ¥agfor (3msw@
frred MY) & AFT F FROT FAT IHFR T 3987T T 82

1. Cavernous Weathering / haeid 31087
2. Biological Weathering / Sifae 31qer
3. Chemical Weathering / TRIIfA® 37987

4. Physical Weathering / #ifae 3muew

Correct Answer :-
« Physical Weathering / #ifd® 38

59) Bessemer process has been used in which of the following industries? / S8AT TfhaT FT
g fArafaf@a & @ e sgahr & faar o &2

1. Fertilizers / Sd{h

2. Aluminum / TegHI T aH

3. Steel / SEATA
4. Coal / PIIeIT

Correct Answer :-

» Steel / SEUTA

60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the following

national park/bird sanctuaries? / HEIRTT Fel, T Joayry yardf vaft feafaf@a #& @ fra
TS 3eFe/ael IRy w1 e smigs 82

1. Vedanthangal bird sanctuary / dglecdlel Ul JHIRTY
2. Keoladeo national park / dhadlicd BT 3T

3. Ranganathittu bird sanctuary / TTATACE Y&l HHIRUY
4. Sultanpur bird sanctuary / gedlelgy U&T HARTY

Correct Answer :-

« Keoladeo national park / hdelicda T 3T
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